IE 598 Inference in Graphical Models

Homework 2

Problem 2.1

In this problem, we will show that when the distribution u(x) is not strictly positive (i.e. u(xz) =0 for
some z), then the I-map for this distribution is not unique. Consider a distribution of 4 binary random
variables x1, x2, 3, and x4 such that pu(zq = zo =23 =24 = 1) = 0.5 and p(x; = 29 = x3 =24 = 0) = 0.5.
The following two undirected graphical models are both minimal I-maps for this distribution, hence it is not
unique.

(a)

(b)

Prove that the two undirected graphical models above are minimal I-maps for the distribution p(z).
You need to show that both graphs are I-maps for the given distribution p(z) and that removing any
edge results in introducing independencies that are not implied by the distribution p(z).

Now, we show that starting with a complete graph and eliminating edges that are pairwise condition-
ally independent does not always give you an I-map (minimal or not). Start with a complete graph
K. For each pair of nodes, eliminate the edge between this pair if they are conditionally independent
given the rest of the nodes in the graph. Continue this procedure for all pairs of nodes and examine
the resulting graph. Is this an I-map of the distribution p(z1, z2,zs,x4)?

Recall from class, that a distribution over x is (globally) Markov with respect to G = (V, E) if, for any
disjoint subsets of nodes A, B, C such that B separates A from C, x »—xp—z¢ is satisfied. Recall two
other notions of Markovity. A distribution is pairwise Markov with respect to G if, for any two nodes
i and j not directly linked by an edge in G, the corresponding variables z; and x; are independent
conditioned on all of the remaining variables, i.e. for all (i,5) ¢ E,

LimTV\{i,5} Lj

A distribution is locally Markov with respect to G if any node i, when conditioned on the variables on
the neighbors of 7, is independent of the remaining variables, i.e. for all i € V,

Ti—Toi—Tv\{i,0i}

Using the example of distribution on 4 random variables as a counter example, prove that a distribution
is pairwise Markov w.r.t. G does not always imply that it is locally Markov w.r.t. the same graph G.
(However, if the distribution is positive, pairwise Markovity implies local and global Markovity.)

Using the definitions of Markov properties, prove that if a distribution is globally Markov with respect
to G, then it is locally Markov with respect to G.



(e)

(Optional) Using the definitions of Markov properties, prove that if a distribution is locally Markov
with respect to G, then it is pairwise Markov with respect to G.

Solution 2.1

(a)

The (set of) independencies implies by the first graph G is x3—x4—{z1, 22}, x3—{24, T1}—x2, T4—21-22.
Since this is included in Z(p), Gy is an I-map of p.
The (set of ) independencies implies by the second graph G is x4—x3—{21, 22}, x4a—{21, x3}—2X2, T3—T1—T2.
Since this is included in Z(p), G1 is an I-map of p.

Further, if we remove an edge from either G; or Ga, the graphs are separated into two disjoint. This
implies that there are two sets of nodes which are independent, which is not true for the given pu.
Hence, bothe graphs are minimal I-maps of pu.

The resulting graph is a graph of 4 nodes with no edges. This graph implies, for instance, that x; and
xo are independent, which is not true for the given u. Hence, this is not an I-map.

The given distribution u(x) is pairwise Markov with respect to the graph in (b). However, it is
not globally Markov w.r.t. that graph. This proves that pairwise Markovity does not imply global
Markovity.

Using the definition of global Markovity, let A = ¢ and B = 0i. Then it follows from the definition of
0i that B separates A from the rest of the graph. Hence, x;—rg;—7v\(i,0s). Since this is true for any
choice of 4, this proves that mu is also locally Markov w.r.t. G.

First, note that x;—xg;—Tv\ (iy\a; implies T;—To;—Ty\ (i,j1\0:- Then, by local Markovity,
w@i, il gigy) = pl@lov ) m(@ilev gy)

= plxjlev gy (i za:)
= wxjlry ) m(wil v gig)

this implies that local Markovity implies pairwise Markovity.



Problem 2.2

Consider a stochastic process that transitions among a finite set of states si,...,si over time steps
i=1,...,N. The random variables X1,..., Xy representing the state of the system at each time step are
generated as follows:

Sample the initial state X; = s from an initial distribution p;, and set i := 1.
Repeat the following;:

— Sample a duration d from a duration distribution pp over the integers {1,..., M}, where M is
the maximum duration.

Remain in the current state s for the next d time steps, i.e., set

Xi = Xi+1 =....= Xierfl =S

Sample a successor state s’ from a transition distribution pr(-|s) over the other states s’ # s (so
there are no sef-transitions).

— Assigni:=1i+d and s:=s'.

This process continues indefinitely, but we only observe the first N time steps. You need not worry
about the end of the sequence to do any of the problems. As an example calculation with this model, the
probability of the sample state sequence s1, s1, S1, Sa, 83, 83 1S

p1(51)pp(3)p7(s2]s1)pp(1)p7(83]s2) Z pp(d) .
2>d< M

Finally, we do not directly observe the X;’s, but instead observe emissions y; at each step sampled from a
distribution py; x, (y:|s)-

(a)

()

For this part only, suppose M = 2, and pp(d) = { 82 igi Z i é , and each X, takes on a value
from an alphabet {a,b}. Draw a minimal directed I-map for the first five time steps using the variables
(X1,...,X5,Y1,...,Y5). Explain why none of the edges can be removed.

[Note: you do not need to solve part (a) in order to solve part (b) and (c).]

This process can be converted to an HMM using an augmented state representation. In particular, the
states of this HMM will correspond to pairs (z,t), where x is a state in the original system, and ¢
represents the time elapsed in that state. For instance, the state sequence s, s1, 1, S2, S3, s3 would be
represented as (s1,1), (s1,2), (s1,3), (s2,1), (s3,1), (s3,2). the transition and emission distribution for
the HMM take the forms

d(xi, xip1,t) it =1and x40 # 2
DX 1, Topa | X, T (Tig1s tia i, 1) = (w4, t) iftip1 =% +1and z341 = 25
0 otherwise

and Py, x, 1, (¥i|Ts, t;), respectively. Express ¢(xi, xi41,t:), {(xi,t:), and Py, x, 1, (¥i|zs, t;) in terms of
parameters p1, pp, Pr, Pv;|x;, k» IV, and M of the original model.

We wish to compute the marginal probability for the final state Xy given the observations Y7,...,Yy.
If we naively apply the sum-product algorithm to the construction in part (b), the computational
complexity is O(Nk2M?). Show that by exploiting additional structure in the model, it is possible to
reduce the complexity to O(N(k*+kM)). In particular, give the corresponding rules for computing the
forward messages V;+1—it+2(@itr1,tir1) from the previous message v;—;4+1(xi,t;). Do not worry about



the beginning or the end of the sequence and restrict your attention to 2 <i < N — 1.
[Hint: substitute your solution from part (b) into the standard update rule for HMM messages and
simplify as much as possible.]

[Note: If you cannot fully solve this part of the problem, you can receive substantial partial credit by
constructing an algorithm with complexity O(Nk*M).]

Solution 2.2

(a) Here is the minimal directed I-map:

Consider the factorization

PX1.Ys,.... XN, YN = PX1 PY11X1 PX2|X1,Y1 PY2|X1,Y1,X2 """ PYN|X1,Y1,00, Y1, XN

The distribution px,|x,,....x,_,,vi,...v,_, depends only on {X; ps,...,X; 1} through the transition
distributions and duration distributions. Similar to the HMMs, the distribution py;|x,, .. x.v1,...v; .
depends only on X;. This yields the DAG above.

The arrows X; — Y; are necessary because the observations depend on the states. As for the arrows

between states, the following table for px,|x, , x,_, shows that neither the one-step nor the two-step
edges can be removed for i > 3.

Tica  Tic1 | Pxy X5 0,X, (BlTic1, mis1)

a a 1
a b 0.6
b a 0.4
b b 0

(b) The HMM with augmented state representation is
First note that the probability of switching after m-th consecutive time step in a given state is

® (——0)
O 6 6 6
S(m) = P(d_mldzm)—z%

Then,
pT(fE1+1|(E1)S(t1) if ti+1 =1 and Ti+1 # xX;
ZN)X'i+17Ti+1‘Xi7Ti (xi+1,ti+1\x7;,ti) = ]P(D 2 ti + l‘D 2 tl) lf ti+1 = ti —+ ]. and {Ei+1 = T;
0 otherwise



This gives

t.
P(ai Tiv1,ti) = BD=4]D2t)pr(Tinle) = Z;)ji(li@‘l)pﬂxiﬂm)
Zd>t-+1 pp(d)
Ezit) = P(D>t;+1|D>t;) = =2
ZdZti pp(d)
ﬁYi|Xi,Ti (yl|$l7t7,) = Dvix; (yl|$l)
(c) For HMMs, the forward BP update rule is

Vitioiv2(Tiv1, tin1) = Py Xopr Togs Wit [Tiv, tign) Z Z PXyir oo | X0, (Tip1s i [0, 8) Vi i (w4, 87)

Z; ti

Substituting the formula in part (b), we get

Viti—it2(Tig1, tig1) =

PYi1|Xipr Yir1]|Tit1) Z Z {H(tiJrl:I)H(mi+1¢mi)¢(xi7xi+17ti) + ]I(tlurl:ti+1)H(mi+1:zi)£(ajiati)}l/i—n—&-l('riati)

x;  t

To sum out the terms involving &(z;,t;), it requires O(kM) operations, since we need to consider all
combinations of ;41 € {1,...,k} and ¢;41 € {2,..., M} and for each combination we need to evaluate
§(@ig1, tiv1 — )Visigp1 (Tig1, tigr — 1) once.

If we naively sum out the terms involving ¢(z;, z;41,t;), it requires O(k*> M) operations, since we can
fix t;11 = 1 and consider all ;11 € {1,...k} and sum over all ; # ;41 and t; € {1,..., M}.

Further speedup can be achieved by the factorization of ¢(x;, xi41,t;) = a(t;)b(x;,z;+1). Then the
first term becomes

DY X Wit1]Tig1) Z Z Tt =) Lais ) D (@i, Tipr, ta)Visir (24, )

Tt

i) =) Y D a(t)b(@, wig)vii (@i k)

PYi 1| X1 (yi-i-l

TiFTit1 L
PYoia X Wit |2ip ) =) > b(@iwin) Y alti)visign (i, t:)
TiFTi41 t;

The inner summation does not depend on x;41 and can be computed in O(kM) operations. Then, the
outer summation requires O(k) operations and must be computed for each x;, 1, requiring total O(k?)
operations. Hence, the total running time for the forward update is O(N(k? + kM)).



Problem 2.3

Consider random variables X1, X5, Y1,..., YN, Z1,..., Zy distributed according to

le,X27Y,Z(x17-7327y7 z) = Px, (1 pX2 T2 H [pwx1 yz|$1)pZ\YX2(Zz|yuﬂ?2) )
=1

where X1,Y1,...,YN,Z1, ..., Zy takeon valuesin {1, 2, ..., K} and X5 instead takes on a valuein {1,2,..., N}.
A minimal directed I-map for the distribution is as follows:

©,

Assume throughout this problem that the complexity of table lookups for px,, px,, py|x,, and pzjy,x,
are O(1).

(a) A Bayesian network represented by a directed acyclic graph can be turned into a Markov random field
by moralization. The moralized counterpart of a directed acyclic graph is formed by connecting all
pairs of nodes that have a common child, and then making all edges in the graph undirected. Draw

the moral graph over random variables X1, Xo,Y7,..., Yy conditioned on Z1,..., Zx. In other words,
find an undirected I-map for the distribution of random variables X7, Xo,Y7,...,Yyx conditioned on
Zl, ey ZN.

Provide a good elimination ordering for computing marginals of X, X5,Y7,..., Yy conditioned on
Z1,...,Zn. For your elimination ordering, determine « and [ such that complexity of computing

PX,|Z1,....zy Using the associated elimination algorithm is O(N“K#).

(b) For the remainder of this problem, suppose that we also have the following contezt-dependent condi-
tional independencies: Y; is conditionally independent of Z; given Xy, = ¢ for all ¢ # ¢. For fixed
Z1,...,2N, T1, and ¢, show that

Pz,,...Zn|X1,X2 (21 ceey ZN|5517 C) = 77(951, c, Zc))\(C, ZlyevvyRe—1yRcHly-s ZN)

for some function n(x1, ¢, z.) that can be evaluated in O(K') operations for fixed (z1,¢, z.), and some
function A(c, z1, ..., 2n) that can be evaluated in O(N) operations for fixed (¢, z1,...,2n). Express
n(x1,¢,2.) in terms of py|x, and pzjy,x,, and (¢, 21, ..., Ze—1, Ze41, - - -, ZN) in terms of pzx, .

Solution 2.3



(a)

The moral graph of random variables (21, Z2,y1,..., YN, 21,-..,2N) 1S
Conditioning on (a specific realization of) z1,..., 2y, we get the following undirected graph.
Now, consider an elimination ordering I = (Y7,...,Yn, X2, X;1). For this elimination ordering, com-

puting the marginal py,|z,, .. z, requires summing out variables in the elimination order. Summing
out Y; requires O(NK 2) operations, since for each Y; we need to sum over K values of Y; and we need
to repeat this for all instances of X; € {1,..., K} and X5 € {1,...,N}. Further, we need to repeat
this for each {Yi}icq12,...,n}. Hence, the overall computational complexity for the elimination ordering
is O(N?2K?)ie., a =2, 3=2.

The I-map for random variables ((z1, Z2,y1,..., YN, 21,-.-,2N)) given xo = ¢ is

By the context-dependent conditional independencies, we have pz|y,x, (2:|yi, ¢) = pz|x, (zilc) for i # c.
Then,

N
pY,Zl,...,ZN\Xl,Xg(ycaZla-~-yzN 5617962:0) = PY|X1(yc\$1)pz|y,x2(2c|yc,C) H pZ\X2(2i|C)
i=1,i%c



Summing over y. to marginalize, we get

N
pzl,...,ZN|X1,X2(Z1,-~-,ZN|$1,332ZC) = (ZPY\XI(yc|$1)pZ\Y,X2(Zc\ywC)) H pZ\Xg(Zi|C)
Ye i=1,i%c
=n(z1,¢,2¢) =A(€,215.32c—11Zc415--12N )

Evaluating 7(-) requires O(K) summations and evaluating A(-) requires O(N) multiplications.

N
DXy, 70 Zn (X121, -, 2N) = px, (1) pr2 (o)n(x1, ¢, 2)N(Cy 21, -+ 5 Zem1y Zetls -+ -3 ZN)

c=1

To evaluate px,|z,.... zy (%1]21, . .., 2n), we compute px, z, ... zy (T1, 21, . . ., 2v) for a given values of z;’s

and normalize it. Hence the complexity is the same as the complexity of evaluating px, z,....zx (Z1,21,- -, 2N)
for a specific values of z;’s and all K values of x;. For a given values of z1,z21,..., 2N, it requires
O(N(N + K)) operations to evaluate the function. O(N) for evaluating A(-) and O(K) for evaluating
n(---). The extra O(N) comes from the summation over N possible values of c.

Problem 2.4

The graph G is a perfect undirected map for some strictly positive distribution p(z) over a set of random
variables © = (z1,...,,), each of which takes values in a discrete set X'. Choose some variable x; and let
x4 denote the rest of the variables in the model, i.e., {z;,z4} = {x1,...,2x}. Construct the graph G’ from
G by removing the node x; and all its edges. Let some value ¢ € X be given. Show that G’ is not necessarily
a perfect map for the conditional distribution Py, ,,(-[c) by giving a counterexample.

Solution 2.4

Consider a distribution (1,22, x3) = e~ *172% for binary random variables z1,z2, 3 € {0,1}. There
is no independence and a perfect map of this distribution is a complete undirected graph with thee nodes.
However, if we condition on z; = 0 (¢ = 0 in this example), then the conditional distribution is pu(x2, z3|z1 =
0) = %, which means that zo and z3 are independent. For this conditional distribution, a perfect map will
be two isolated nodes with no edge, but the induced graph from the original complete graph (by removing



node z; and corresponding edges) is two nodes connected by an edge. Hence, G’ is not necessarily a perfect
map for the conditional distribution.

Problem 2.5

Consider the (parallel) sum-product algorithm on an undirected tree T = (V, E) with compatibility
functions ¢;; such that u(z) = [; j)ep ¥ij (i, ;). Consider any initialization of messages, which is denoted

by 1/1(_2 j (x;) for all directions ¢ — j and all states ;. Messages at step t > 1 are denoted by Vl(_)> ]( ;). In this
problem, we will prove by induction that the sum-product algorithm, with the parallel schedule, converges

in at most diamater of the graph iterations. (Diameter of the graph is the length of the longest path.)

(a) For D = 1, the result is immediate. Consider a graph of diameter D. At each time step the message
that each of the leaf nodes sends out to its neighbors is constant because it does not depend on messages
from any other nodes. Construct a new undirected graphical model 77 = (V', E’) by stripping each
of the leaf nodes from the original graph T. Let z/Jgj (xi,z;) be the compatibility functions for the

new graphical model, and l/( )J (x;) be the messages of (parallel) sum-product algorithm on the new

graphical model. Let L be the set of leaves in T and L’ be the set of nodes that is adjacent to a node

in L. For the new graphical model, we add, for all ¢ € L',

7/}( ) 7/12 xl H Z (O) xk 1/% ‘rkhxl)

kedinL Tg

where ¥;(x;) = 1 if 9;(z;) is not defined for the original graph G and for all other edges we keep the
original compatibility functions

Vi (i, xy) = Pij (i, x5) -
Also we initialize the messages as

0 1
V(@) = vl (@) .

1—]

Show that /") () = V(tﬂ)(wi) for all (i,7) € E' and all ¢ > 0.

Z*)j 1]

(b) Argue that T’ has diameter strictly less than D — 1.

(¢) By the induction assumption that the parallel sum-product algorithm converges to a fixed point after
at most d time steps when the diameter is d < D — 1, the sum-product algorithm on 7" converges
after at most D — 2 time steps. Show that if we add back the leaf nodes into 7" and run (parallel)
sum-product algorithm for one more time step, then all messages will have converged to a fixed point.

Solution 2.5

(a) At each time step the message that each of the leaf nodes sends out to its neighbor is constant because

it does not depend on messages from any other nodes. Hence, Vl(t_{](xl) = 1/1(2]( ;) if ¢ € L. Then

it follows from our construction of the new graphical model on T” that l/z(_t>)J (x;) = Vz(t_jjl)( ;) for all

(i,5) € E" and all ¢ > 0.

(b) The longest path in a tree is between two leaf nodes, so any path of length D will be length D — 2
in T’. We also claim that for a path of length D — 1, at least one of the start and end nodes must
be a leaf. Otherwise, we could extend (if we cannot extend the path, we must form a cycle which is
impossible) the path in both directions to get a path of length D + 1, a contradiction. Hence, T’ has
diameter strictly less than D — 1.



(¢) By the induction hypothesis, we know that the messages in 7" have converged after D — 2 steps. Hence

zl(j] 2 = vi*, ;. But by construction from part (a), we know that the messages in 7" are the same as
the corresponding ones in T' except for a 1 timestep difference, hence p P D=2 _ e where

i—j i—j i—J
neither ¢ nor j is a leaf in T' (i.e. they have converged). Therefore, after one more iteration, all the

messages from ¢ to j, where j is a leaf in T', can be computed. Each of these messages are again also
fixed points. Thus, after D iterations each message will have converged to the fixed point.

Problem 2.6

For £ € N, let Gy = (V, Ey) be an £ X { two-dimensional griﬂ We consider an Ising model on Gy with
parameters 0 = {0;;, 0; : (i,j) € Ey, i € V;}. This is the probability distribution over x € {+1,—1}"

wlx) = — eXp{ Z 0;; x5 + Z 0; xl} (1)
(i,5)EE, i€Vy

(a) Write the belief propagation (BP) update equations for this model. Also write the update equation
for the log-likelihood ratio

(t)
(t) 1 Vi (+1)
Lis log( 0 1))
1~>J

(b) Write a program that implements these update. You are requested to return a printout of the code

(Matlab, C, C++, Java, ..., are accepted). Feel free to download and start from the skeleton in bp.m
from the course website. In this case, you are only required to print out the parts of the code that you
added.

(¢) Consider the case £ = 10 (and hence n = 100 nodes). For each 5 € {0.2,0.4,...,2.8,3.0}, generate an
instance by drawing 6;, 6,;; uniformly random in [0, 5]. Run the BP iteration and monitor convergence
by computing the quantity

A<t>5—| ST i) - v (). (2)

1
E B}
| Ee (i) € B

Here Ey denotes the set of directed edges in Gy, in particular |Ey| = 2|E,|.

Plot A(t = 15) and A(t = 25) versus 3, for the random instances generated with 8 € {0.2,0.4, ...,2.8,3.0}.
Comment on the results.

(d) Repeat the calculation at the precious point, with now 6;,6;; uniformly random in [—f3,+/], with
B €{0.2,04,...,2.8,3.0}. Comment on the results.

Solution 2.6

(a) The belief propagation update equations for the grid are, up to normalization, as below:

Vi(:i—jl)(l,z H {Z 0k, Thy, xk)}

kedi\j Tk

INamely V; = [¢[x[¢] and, for any two vertices 4,7 € Vp, 1 = (i1,42), § = (j1,42), i1, 42,51, 42 € [4], (3,7) € E, if and only if
i1 = j1 and iz — jo| = 1, or i2 = jo and |i1 — j1| = 1.

10



Since the variables take two values only, it is somewhat easier to use the log-likelihood ratio instead of
the beliefs as messages:

O
1 (+1)
LY. = 5 log (7HJ )
i—J t
v (=1)
The update equations then become:
3 ikX (t
Lt 11 ef erai\j ka efin kykli(l’k)
i-j T 9 0g

_ 0. _pn. t
e~ Tlpeony oay €05 ui, (21

= 6+ Y log( S €l () )

) t
kedi\j > 6_9““”’“1/( ) Zi(zr)

OuntLi2,) Oun+Li2,)
= i+ > log< o) - 0 )
keal\] e(elk Lk_”') _|_ 6_( ’ik:_Lk_)q‘,)

Since 1 log(z) = arctanh( ;H ), the above simplifies to:
ngj = 0;+ Z arctanh{ tanh(6;x) tanh(Lfsz)}
kedi\;

(b) A solution is given as a separate .m file.

(¢) The algorithm converges to a fixed point with high accuracy for the iteration numbers mentioned.
Lower iteration numbers yield a slightly better picture.

At low and high values of 3, the algorithm converges quickly. For low values this is expected since the
interactions along edges are weak and the marginals are approximately the normalized node potentials
(corresponding to the graph with no edges). For intermediate values of beta the convergence is slower.
For reference, the plot for larger iterations is as below:

T T -
——A(t=15)
10—7 +A(l‘ = 25)
10—10 ‘
4
—13 /
10 Pl
10-16
Al
10719 I I I

| | | 1
0 02 04 06 08 1 12 14 16 18 2 22 24
B

(d) The algorithm does not converge, except at very low values of 8. For these values, the measure is
approximately independent over the vertices of the graph.

11
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Problem 2.7

In this problem, you will implement the sum-product algorithm on a line graph and analyze the behavior
of S&P 500 index over a period of time. The following figure shows the price of S&P 500 index from January
2, 2009 to September 30, 2009 (http://finance.yahoo.com).

1,050
1,000
250
900
850
800
750

700
2009 Feb Mar Apr May Jun Jul Aug Sep
For each week, we measure the price movement relative to the previous week and denote it using a binary
variable (+1 indicates up and 1 indicates down). The price movements from week 1 (the week of January

5) to week 39 (the week of September 28) are plotted below:
Consider a hidden Markov model in which z; denotes the economic state (good or bad) of week ¢ and

12



05 B

y: denotes the price movement (up or down) of the S&P 500 index. We assume that z;y; = z; with
probability 0.8, and Py, |x,(y: = +1]z; = ‘good’) = Py, |x,(y: = —1|z; = ‘bad’) = ¢. In addition, assume
that Px, (z; = ‘bad’) = 0.8. Download the file sp500.mat from course website, and load it into MATLAB.
The variable price_move contains the binary data above. Implement the (sequential) sum-product algorithm

and submit a hardcopy of the code (you dont need to include the code for loading data, generating figures,
etc.).

(a) Assume that ¢ = 0.7. Plot Px,y (z; = ‘good’|y) for t = 1,2,...,39. What is the probability that the
economy is in a good state in the week of September 28, 2009 (week 39)7

(b) Repeat (a) for ¢ = 0.9. Compare the results of (a) and (b).

Solution 2.7
The code will be provided in a separate .m file.

(a) Px,,py (230 = ‘good’ly) = 0.6830.

o] T T
y ol lodlad l-.~ ’.-l.- lot-lal
g
™ N TS
05 -
H u
oLe >
-05F .
= Il 1 Il 1 1
0 5 10 15 20 25 30 35 40

(b) Pxyqpy (z39 = ‘good’|y) = 0.8379.

When ¢ is smaller, the S&P 500 price movement is a less reliable indicator of the economic state, so
Py, |y relies more on transition probabilities than emission probabilities. Since Px, |y is higher when
X1 = Xy, Px, )y becomes smoother.

Problem 2.8

Consider a hidden Markov model (HMM) with binary states z; € {0,1} fori € {1,...,n} and observations
y;’s. For simplicity, let us assume that the model is homogeneous, i.e., ¥; j+1(2;, Tiy1) = (i, ip1) and
di(xi,yi) = ¢(xi,y;). Given the observations y;’s we are interested in state estimates Z;(y1,- - ,yn) that
maximizes the probability that at least one of those state estimates Z; is correct.
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(a)

osf- | j

The desired state estimates can be expressed in the form
(Z1,...,8p) €argminP(X; = f(Z1) A -+ A Xy = f(@n)|Yy1y - YUn) -
Determine the function f(+).

Show that if only the marginal distributions u(x;|y1 ...,yn), ¢ € {1,...,n} for the model are available,
the desired state estimates cannot be determined. In particular, construct two HMMs whose marginals
coincide, but whose state estimates differ.

[Hint: it sufficies to consider a model with n = 2, and in which the observations are independent of the
states thus can be ignored. Accordingly, express your answer in the form of two compatibility functions
Y(z1,22) and ¢’ (21, 22).]

Construct an example of an HMM in which our desired estimates are not the same as the MAP
estimates obtained from running the max-product algorithm on our model. The same hint in part (b)
applies, so again give your answer in the form of a compatibility function ¢ (z1, z2).

Let’s assume that you are given two pieces of code (e.g., matlab scripts).

The first routine implements the sum-product algorithm, taking as input the potential functions that
describe a homogeneous HMM, and an associated list of n observations. It produces as output the list
of marginal distributions for each associated n states conditioned on the full set of n observations, for
the specified HMM.

The second routine implements the max-product algorithm, taking the same inputs as sum-product
algorithm, but producing as output the max-marginals for each associated n states conditioned on the
full set of n observations, for the specified HMM.

Describe how to use one or both of these routines to compute the desired estimates &;(y1,...,yn) for
i € {1,...,n} for our model of interest, assuming that the potentials are strictly positive. You are free
to use these routines with any input values you like (whether or not related to the model of interest),
and you can further process the outputs of these routines to compute the desired state estimates.
However, in such further processing, you are not allowed to (re)use the model’s potential functions or
observations.

Solution 2.8

(a)

flx)=1—-u.
Since any fixed estimate sequence either has at least one of the state estimates correct or has all of
them wrong (i.e. those events partition the sample space), maximizing the probability of at least one
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state estimate being correct is equivalent to minimizing the probability that all state estimates are
wrong. Because of the binary state values, the probability that all state estimates are wrong is exactly
the probability that the true state sequence was the state-wise opposite of the estimate sequence, i.e.
where P(X, = f(&1) A -+ A X = f(@n)|y1, -+, yn) f() is the bit-flipping function.

1 1
Consider two compatibility functions ¢ (z1,z2) = {(2) (l) W (21, 22) = 2 (2) . For both cases, the

marginals are uniform. However, the variables under 1 are always in a %0,0) or (1,1) configuration
but could be in either one with equal probability, which means one should choose estimates of (0,1)
or (1,0) to cover both possibilities and get at least one estimate right with probability 1. For «’, the
situation is reversed: the most likely states are (0,1) or (1,0), and so to get at least one right with
probability 1 we would want to choose (1,1) or (0,0). Therefore marginal information will not suffice,
since it would not allow us to discriminate between 1) and 1)’.

Either of our examples from part (b) would work here as well. For ¥(z1,z2), the MAP estimates are
clearly (0,0) and (1,1), but to choose one of those as our estimates for this problem would not be
optimal because an estimate of (0,1) or (1,0) means the all-wrong probability is 0, while the all-wrong
probability for either (1,1) or (0,0) is 1. Thus MAP estimates are not what we are after.

Define new potentials ¥’ (z;, ;41) = m and ¢ (z;,y;) = m and run max-product on a new
HMM defined with these new potentials. We take the output MAP estimate and flip every bit, and

return the flipped sequence as our estimate.

As hinted in part (a), we can express our estimates easily in terms of the least likely sequence in the
original HMM, and the key insight is that the max-product algorithm can give us the least likely state
sequence if we give it inverted potentials, i.e. we invert the edge weights on the trellis on which the
max-product algorithm operates.
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